18 (K) 28 (%)
[ Bmdb —A&Y | |#as Bmdb — A%y
EXS=E EXRS=E
B Ak ER) 72| | [HEEK(ER) 72
7 [RExER) so| [IF [BEX@E® 80
T |mmix os| [V [saiexk 05
L & -
| |[BREEIF 20| |z, |&4EL 206
FRAIVF 15
[ HRESH 1 [V [BublLosss #-1h 40
2 [whosbyxs 1k 20| [ [ ubLotz B 50
. |mtEEz 40| (L
voas 10 (P [EERL 30
5 |E==> 4 |5 (BT 25
n |L—Xv 15 |As 5
v |[zAll 06| |A L&KW 25
a3 |4 03| |& |HRUBE 1.3
'|J H545 3 05 1em D (BH) 500g 07
) P FryT 1k 9 %
= |2RE=V=R 35 | 2 20
iz |[hL—# 12| [z |[BEpFEEcoR) 6
5 | FERVIAVYA 05| | |EE 20
[0)) Big 03| |8 | AB 5
7 |zLs> 003| |2 [FLinkrzs4z) 05
'|J ThSA 05| [ [mnz 3
@ :EE:E 1
N Z RS
=z |#EH 206 BiE 0.7
| & LS 0.5
7 (%£)7@yaly— 30 (5 BlVET LA 4
! 120
A—a (55 7| |?
ROEER 30 ';“ (A KEKE 20
EWNSIFES 15 [0 |TASA 1.2
AS 5| |+ [Ef-Aail 2
AN D) 0.5 FEOYH 0.05
INR— 2 (3 Big 0.07
Y3545 4
INEB 6| [&
FEo oy X 0.5 *,j‘j'l
Bif 0.5 =
) 0.03
SRS 50
HEH1)—L 2
7K 60




REHT 2R
::L(%H) Y 68 () 7H(OK) 8H (X) 0B (2
L — A v =] oo
HA AgY | |mus BB —AN&Y | |#Bus EmE — A4y | (mxe BRA s 5
T mox an EmkSD 8 E0kH 8 FHsE o —A%Y | (gl RSB —A%Y
I HEK (B 2 |3 [ausssy 0l [T BExEn e e e ERAE | | EnSE
G ETEENEES go| |2 |3y ol & heag mi 2 () hEDA -3 150] |H - [HEEX (EH) 65
[ ~ BER(BR) g0l |¥ [ ohEs [
¥ [RE 4] | A ik ool |> =) REDHA a6 2000 | s s x o) 9
L EE’;M’E 1l [~ (A SoEEA—AL 20 |a a3l (B)PEHA 250 o |BA tbEsLGxim 6
13 AT ;. — s, |BALEx3mRI1R) 15 B AESHE
. F 4l |2 |42 5 7 1
+ [Lom wof | [Lem 7 206} 11 (Le 0s| |5 [RuzEZ s
i %2 08 ;)3 A 13| |5 |zzmz A (R 40 * ;‘ﬁ‘f&@ ) il o 2
3 8 = N e eT— < i 10| [R [T EgsE 1k
,,tu tYBCTFE 500g 113 § o [t B_U— a| |+ [Wh)SFomike 20 =Al=< ) :
it A=) > 22 | [ EO 2| [ [958 i
’ () EHEDQY (4 -3 24| | . 206 |7 |EEHAS 5| [, [ABPL 15| [F ;;s ': P 1.4
() FEEDY (61K o | . |poEry S Iy [AZ == o
[ (a3 |n  [EA oA w| B [omosms Gl v 10 |0 RS 07
e g RLEEE ke 3| |5 |EHockEa 2n. “LLS '
~  |HS55iH 05 P o5l |2 (2ol L2R2E) 24 P (i OF 5| 0.03
zozyﬁmww— N 30 ﬁft XiR 40 f’, L&KW 1'2 a iﬁ;?ﬁw”’ |7
S Y N _ . S =
bty ks IRV R TEES i 0| I (YA ol |7 ez 5 C 42 206
(LhEC DA e 20 |7 lehs4 03 | [#35m G
b HE 15 |, |AB 10 = |4 Lj‘ ! 1|2 [B24vLE2 30
p3Y S 2 % E—v 10 & A—2/\A (a8 J':jh?* 35 o 2p5Y) 15
<37 —X 1keg 51 [ [|wavy A R S & (AR —T 4 |4 |AB
by — 3 iz [ FEAIL 20| |2 & Z = 7
R sl ¥ 15| [ [KBHHL 20| [A [CLsS 05115 |Whih—na—y 1k 5
148 A () ket 7| |5 [@rztrFed e 4 |2 [Az 1l 5 — 003| [¥ |&EE 2
_ IR Preve—— 4 1E [Con 1 | i#’,/:"” 05| | [H35H 1
EX) 206] | [@Aez—7 i |F [am 2o = 03| |2 |Lom i
PR - [EROR 2 v LB 2 [cask e 23
é;\ﬂ\;azmzxvg; 10 . FHraAYA 05| ¥ |¥35H 05 g 7 ( ol =
FociEs 2|y [BE_ 05| | |SFiMl 05| % e R =
e 2D 10 SL&S 00s5| |7 [wymcE ] e | |[r=aram 5
;3;/\;:%& ViRES o—yT 01 3_5 < ) 206| |*  |BEVATAT 1k 15
EHAS 5 i'/ H£HY— L ) A P [ # THA= (FRA—IL) 7
KEHL 5 ; K sl lx [ ) 5 (GNP N 40 . E 25
PRE 5 A 30/ |1 |csEsesnssg B 60| || (@ FTRkE 5
s 2 |4 ES 10] |5 |t o—y— d |, Az
FHE % () Foyay—Ghyk) B 25 7 FLbHhM® (huk) 05| |+ D = 5
_ 4 |z |wrzs9—twhik 15 = R =) 2
EZFL LA 4 |4 |AB 5 ?_ e 3 " Ob) BREMEAT (X I ERR e 05
S 110 Z (LR h—La—y kg 5 ' HHE 5'2 0] g?;&;i 201 |7 (F) MHR—F 4
- |BEE 25| | [&FL £LR A% s 4 I [ ESESE 1
[ES Nd=t 1.2 E = ~ = 5 rh Fxa)* 05
I Fre=y=sen 1 EII 110 (LR h—La—y 1ke 3| |l |BIE 05
n L&SK “LLS '
A ?15 — 03| [ |[UB)DTLI—HIE 80 tEE 21 & =ldd 003
~ LS 0.03| [ . 18 = |BZUT 0.1
. : S :
,[L N 0.5 7K 110
o |Eanis 100] |7 =
H i B = —5—h# 35 (B)Fh—saa5 - RMEERTL 30
_ »
#




138 () 148 (K) 15H (K) 168 (£)
R E B4 —A&Y | #zz =4 E —A#HY BRf —A#HY Bht —A#HY
ERRNE ERRE nE ERNE
= | B2y 50| = EEk(ER) 72| |/ BB (ER) 72| 1B |EEXRER 72
LI ETITD 60| |1F [E3k (B8O 80| | ¥ [HExER) go| |I&  [HEk(ER) 80
U |pEe 75| | 2 |k 05 ; Bk 05
R 9 4 43, 206 1 b RHLOE(EELZME) 3008 2.5
4 7|, z  |4E 206] |
2L [4EL 206 () i (20mf) BRAL 40 43 206
T (LeSw 25| | |#mEx3m2512) 30| |4
L' |mes e smLexem 12| |1 [EE 1| |3 [ERESE 2| B [zamp 12
i A b KAL(2 x 20m) 8 :f H£E 0.7 5 Cohilvg 50| | _ BRI (2 X 20251 R) 10
o |BRESE L1 PO [V 03f |, |HLEZEHE 45 ; A 1
H o |R—ar GEf) 5 A 5| (1 |AZ 10 | |BEEEEA(230) 10
1) Cohilrg 30| [= TASA 3| [~ IYLE(1x3%0. 7em) 5| |& E# 30
| |ROEEH 40| (A |fftaim o—y— 4[4 |hoEsE ke 5115 [AZ 5
L LEzr 20| |5 7 |IAlK 03[ |[&  |ehEeLaira 5008 4
¥ Az 0| € [cass 11 1% |[ysam 11 |? [Lesw 2
i Y54 1 2 (&%) BEEHR (Hvbh) 2 INEH 5 ;: =B 15
| UhEH 45| [ |[BEVWHhACA 20 Y55 5 = |BiE 0.15
Y55l 4 (4 |AZ 7 (S FIhEA—L 1ke 15| (& [HIVES =LA 15
¥ (@& rsR—7F 4| o |[DECAIZRL 12 (BT hKE 10| [ [B 40
D [(FExrauA 05| |&A |CFh 1 (B) s R—F 3
ek 07] [ [ 18 HRE—Y—R 2| [B  [spEEEc 5
Y lcuss 004| [P [#YA 05 ais 06| | [BxTx 25
; |BEREL 30| |0 [LeSw 23 FELIAYSA 05 é Fo_Y 20
0—yxT 01] |o» [k 7 =L 04| | |AZ 5
*  |i&E 60| (A% L& 007 [ [L&SW 1
[ (AN Fie:f 1o 3 oL 015 [ [PTHEE 1.7
7 (LM ECHHE 10] [¥  [Lesrd 30 o—yT 01| 1B |LagE 1.2
Vo [xeRy RN ET 25 EYBAF—X 3 | |as 0.2
171/- EXOY (7 15 ‘7%* i 3 2 75| | %
> (LK) R—ILa—> ke 7 o+ R HF 5.5 n A (FUT R 2MEERTAR) 35
> | BEF 2.2 H#% 5 Foy 25| |4, |ET=Aail 4
~ | H34H |1 |[BEEXL LA 4 OA(YLAR 15| | |[&iE 0.05
N | EErE 12| [ [k 110 () Tvay— ot e 10| |A
T g 02| [R B 25| |7
2 ZLgd 0.02 (B)F—X skt 135 H545 3 1 7{
= =L 12} |2
F—=JIALID 50 BiE 0.3
cL&d 0.03




NEHET 2R

198 (A) 208 (K) 21H (k) 22H (K)
s Bad —A&Y | |#zs Bndb — A&y | |mas Bmb —A&Y | |#zsa Bmdb — A%y

EkRDE ERDE ERDE ERDE
?y QYR 50| (M |gEEk (ER) i EEEEIERS) 72| [ |‘EExER 72
J ETRIT) 60 i\ Bk (B1) 80 fg HBEk (B 80 fg Bk (B 80
/5 A osib K 0.5 fhoRib K 0.5 fhoRib K 0.5
> CEIAYmE FN 15 | 5 4 "
i Yy (&R 206| (3, |4EL 206 [z, [4EL 206
T 206
= =S 4R (2 X 2mRATAR) 25| (B () B Sonfay) EAEEEL 50| |7 HFRA (B X 2emRTAR) 30
T @ EuBSHINITSS 37| |2 [@E 1] (B B8 15| [V |Iz4l=< 0.4
T |atm a—y— 3|, [B® 25 ?; 81 ot |12 [Les 17

Y RUEER 50 i RYiE 4 N=L 1.8

4 [hyF—vF—x 200erY 4 e AS 15 [y, |#YA 2| |+ |EE 1
A& ITayay— 20| |» |HRE 5/ |1 =B 15| |4 [KboL 20
= TRy 15 | LN (RSAR) R The 4] (R L&S5KP 1.2] |IL BRUEEH 20
G |Ee3Y 10 [V [L&dK 45| B |TARA 03 AB 8
5 |AB 5| |2 [#Y4 31 |7 [ 24] M =5 4
g Bt 22| |7 [Lam 2| | ,; HS45 1
e BS54 s [BE 04] [5 |n#EpEESGER) 10| |3 |F#E 2.5
| EEE 1o |TARA 05| |4 |X4R 35[ [y [SEi 05
A |BE 03| |£ |HIYES LA 25| |1 [KkE 10| | [=BE 0.01
3 ZL&S 003 Ly B 60| | [AB 3| |4
Z b DS 1| |7 [E3haz 20
1 [R=arEm 5 g LEBEEYDHA 2 ﬁ YACEE 2.2 ?f AZ 7
_ |enEse@xem 25 | [ABBL 20| |5 |LE*E 1|5 [BELKR 3
5 |UBBEBRN—RR 2| |z [AZE 2f ., |BE 04 WYBTE 1
= |E& 20| [» |AZ 5| [+ [SL&S 003 =11 2
F [/ Y 03[ |&H [L&5W 2| |5 L&5KW 2
| [y 05| |2 [&BEE 22| ¥ 2B 25 I=L 13
5 [@psz—T I N = ] P e 1T 7 CEiMl i
5 FExay A 0.5 th B 55 0Y (5~ 10miE) B 1 A FEWNTIES 13 1I2AlZK 0.1
5 |BiE 03| |p [H3FHE 05 [ [|2EZAlZR 10
” cL&d 003 [z |SFift 05| |4 [AZ 7 by EEXER 20
x |FAER%I 30| [ Tt [RRE 3 (8) B/ (Hvh) 1kg 15
5 |[EVU—L 5 EoFEWE (2emF) 50 L&KW 2 =E 20
* |iE 70 A=t O—— 4 BiE 0.4 BHEXLF 1kg 5
073 IFH#H#D 3 BlYE LA 4 AS 5
| |mEEsnIy st 25 ZiR¥ 1 HLEM 1 ZDELIF 5
7 B 0.6 CFEH 0.1 ARE 7
_ K 1 ThIh 0.5 PHE 5
:‘t kK 120 HHZ 5
5 EFL LA 3
! 7K 115
>
4
12
[N




NEHET 2R
268 (H) 278 () 28H (JK) 298 (K)
s Bad —AHY | |#zs Bmdb —ASY | |mas Bmb —A&Y | |#zsa Bmdb — A%y
EXRRE ERRNE EXRRE ERRE

i YR/ 50 (= [EEXE®) 72| | |BEkER 72| |©  |[gEkE®) 72
G EYAT: 60 'z K (B) 80 % K (B) 80 % A (B 80
H Bkl o—y— 6 sRamibK 05 sxsib K 05 sxamib K 05
('F %fd:*ﬁ 1kg 5 ﬂ* 4: 4:
N SR 35| | o |dmmstiroydmmm 25| |z, |4E 206| [z, |4Z 206
“  |BiE 0.01| |1+
INE: v 1| [ (454 206| = lewrir.. 50| |¥ |BRAKZEIVTF 20
- Y W EE 15| || [mE 1

a4 206 # 47(3 X 3tnATAR) 20 32 BiE 0.1 T CA)EEE (Bvh) ke 80
?'y 7 (LR)5F 500 1ke 0| |z |ESDH -k 5 | |EE 35
~ |GBAEEAS 25 B{h 15 [~ |BQYH 02[ |5 |tHock#&a 2hh 15
8 |BE 35 |& BB (R Tke 25| |3 LK 10| |5 [AZ 10
v | ER 20| | KiE 30| |IFf  |Hfkm o—y— 4 FLLL = (RS1R) 1
© o |ErockEa2nvh) 10| [# [Bud(2em) 20 T |dhhF 3
“; A3 10 % A A2 x 2% 1om) 12 ?}3 (2 x 201251 R) 12 g X 1
5 |FLLLEFRSMR) Nl 1A Nz [PELKER Iy HEAL 0.8
g |PhRE 3 (%) BEER (Huh) 1. [|AZ 1 |4 [P3HH 1
Y |&ER (A$H5em) 3 |h |EEE 5 |k |emzevaiia sooe 4 |5 |@rzrrreyd Tk 5
L &= 05| |A  |FEHZ 3| 1B [L&SW 23| (4 |L&SW 35
&R 3| (& [hXxE 2| (@ |#YA 1.1 &) R —F 3
h |LESK 2| |~ [EE 1] [ |[tasE 1| |1 |%az 3
- |FEravus 05| |7 [Lesw 08 ;’) CE 05 g( B 1
. |[BIE 0.4 Z kK 50 Lt 2| 7 [ZEH 05
3 ZL&S 0.03 5 FEoarvy 4 0.5

K 100 |y (LM FESCHHIE 10| |5 BB 3 BiE 0.1
Fs 5 [hacAWLBES52m) 15| |2 [|£3&4 shzEaE 15 SiRE 0.1
N E= ) 25| | [(B)FEvay— 15 [# | X4B 15 ThZA 1
E‘k\ (4£)Tayay—Chyh) BE 15 ; AS 7| [t AS 5 | 0.5
& |EwdY 10] |5 |ebh—na= ke 7 et 3 K 30
[ﬁ (LR)h—La—> ke 5 & <23x—A 1kg 7 ELM (RSAR)RE Tk 5
2| & 22| |Z hHE 55 O—2/\L G ) Bt 5
/_‘: FBaE 1.2 B BRECUEARFHREATR) 20 HA&F 5 &’ (K&H5cm) 5
o |3 1 o 1 ETL LA 4 AdtoL 20
z |&& 0.3 s 150 Zp3Y 15
I [2Le3 0.03 AS 5
7 BYECE 1
5 L& 25
m] BEF 2
v iA=L 1.5
.:)' ZFi 1
[ oL 0.05
)
a TAMA 20
7
7




